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Name the plant that is used to treat blood

pressure and is found only in India.

(A)Jamun

(B) Kachnar

(C)Babool

(D) Sarpagandha

Where is shrine (Dargah) of Khwaja
Muinuddin Chishti located?

(A) Gulbarga

(B) Lucknow

(C)Delhi

(D)Ajmer

Maharashtra Government has declared
Thane Creek Area as a sanctuary for
(A) Flamingos

(B) Gharials

(C)Pelicans

(D) Trout

The second capital of Maharashtra is
(A) Nagpur

(B) Pune

(C)Kolhapur

(D)Nashik

Which one of the following books is in the
Shortlist for the Man booker prize 2015?
(A) A Brief History of Seven Killings

(B) The Green Road

(C)The Year of the Runaways

(D) The Moor's Account

I Y T ATH TG T AN THAT
I7aTE ¥ FRre e st & $i Fae W §
T ST B

(A) ST
(B) FHATE
(C) T
(D) wtET

BT AR et 7 2wt uw feud 27

(A) et

(B) @@=

(C) fawett

(D) sI5T8T

TETETY FERTE 7 o700 i & A T A e
o spvameo e R 22

(A) W (FATTHATY)

(B) =fz=ma

(C) sreifde (TferF)

(D) zrs2

Ty i g T &

(A) ATTT

(B) T

(C) FrerTI®

(DRURES

forer % & T AT TEAF, A R T 2015 F
artéferee ® 27

(A)T e TRy ot &ae fehferer

(B) sHw T

(C)= T i T TS

(D) & qT'H T3
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10.

Tana Movement was started by

(A) Tilka Manjhi

(B) Birsa Munda

(C)Jatra Oraon

(D)Kanhu

Which of the following languages is not a
part of the Dravidian Group of Languages?
(A) Tamil

(B) Telugu

(C)Malayalam

(D)Konkani

Where was the first International Earth
Summit held?

(A)Kyoto

(B) Rio de Janeiro

(C)New Delhi

(D)New York

Ramacharitmanas was written by
(A)Ved Vyas

(B) Maharshi Valmiki

(C)Mahakavi Kalidas

(D) Goswami Tulsidas

Under whose leadership did the Ulgulan
Movement start?

(A) Tilka Manjhi

(B) Birsa Munda

(C)Martyr Sahid Lal

(D)Bhukan Singh

AT At e 97 i a2
(A) e wieht

(B) ferzam qust

(C) =T 3T

(D) #rg

T & i oY o afE aror-afeE w5 e
T '?

(A) arfirer

(B) 1

(C) 7= amT™H

(D) =imufy

TR STt gl firaw weier Fwat g ar?

(A) e

(B) T 2 sy

(C) 7E fRwefi

(D) =t
TEARTRET % TR #y 472
(A) 3= =T

(B) wE ¥ arerif

(C)waT=f Frefiar
(D)reamHt gerefrare

- AT ST B e # ey gy om?

(A) et #i=fy

(B) faza spsy

(C) eri= emfa= wrer
(D) 7=+ fig
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12,

13.

14.

15

Which of the following laws prohibits
workers from leaving the tea gardens
without permission?

(A) Cripps mission

(B) Government of India Act, 1935

(C)Inland Emigration Act, 1859
(D)Government of India Act, 1858

Name the planet that is approximately

150 million km away from the Sun.

(A) Mercury

(B)Venus

(C)Earth

(D)Mars

Which of the following articles declares India
as a “Union of States™?
(A) Article 1 ;
(B)Article 9

(C)Article 23

(D)Avrticle 360

Which of the following is the longest
National highway in India?

(A)NH1

(B)NH3

(C)NH5

(D)NH7

The first form of crypto currency is
(A) Bitcoin

(B) Chip Based Credit Card
(C)Virtual Credit Card

(D)E Wallet

4 ;

12.

13.

14.

15.

Z# & P e % sieta AT & faar
et ¥ =T 3 AT A v A 82

(A Frem e

(B) wre qLahTE arfarfasr; 1935
(C)zarve wHter wfafaa, 1859
(D) T TaRTE Srfarte, 1858

I TE FTATH AATH, TG & AT
150 faferr M &l

(A) 7=

(B) aF

(€) 7T

(D) w3

B & A F9 7 ATSIE AT H TS H TR
T =T FAT 87

(A) T 1

(B)srT=8= 9

(C)wrT=eE 23

(D) sr=s% 360

frmforfr & & 2 A7 UF AT A a—
T T 82

(A) U= 1

(B) AT 3

(C) T7.u= 5

(D) U= 7

T TET T T T A ?

(A) faemieT

(B) o smenfia %2z #1E
(C)adu Ffzz F1E

(D) £ afee

Page 4 of 32



10D

16. What is the objective of NSSO?

(A) Supports public policy formulation not
only through research, but also through
representation of faculty in various
committees and commissions of the
Central and State governments.

(B) To provide statistical and other
information for the purpose of state or
national planning and policy
requirements.

(C)To provide efficient credit delivery
system in rural areas.

(D) Provides facilities for and encourages
research in economics at global,
regional, national and state levels.

17. The Governor of a State reports to the

(A) Chief Minister of the State

(B) Prime Minister of India

(C)President of India

(D) Chief Justice of India

18. Kartik Chandran has been awarded

MacArthur Fellow Genius Grant, 2015. He is

a professor of

(A) Soil and Water Conservation

(B) Earth and Environmental Sciences

(C)Dams and River Flow

(D)Building and Road science

16. TA.TH.TH. (NSSO) FT T FATE?

(A)HWWWWE%%EHW
Wﬁﬁﬁ%qﬁﬁﬁaﬁ'{ﬁwﬁﬁ
W%ﬁ%@ﬁ%m&m‘r@fqﬁaﬁ%
i frafor 1 FEET &

(B)%srmn@xmﬂaﬁﬁmswﬁ%
ﬁsv%ﬁrqq’r%a‘éﬁﬂsﬁ'(mmr&
T HEATI

(C)mwaﬁﬁ§2mmﬁamqwmﬁw
FTATI

(D)ér%,a—qﬁu,rréﬁmﬁtwwﬁqr

aﬁamﬁagﬁm%gg%msﬁtm
T HCAT|

1. waﬁﬁmwﬁﬁﬁﬁﬁéaﬁr%?
(A) 7T 3 AT
(B) T 3 SEITTHAT HT
(C)+Ta % Tgufd F
(D)W%g@qwé%ﬂﬁ

18. =T SE A1 AFerET HEl St aie, 2015
ﬁw%mw%lag%a%sﬁw%?

(A) g&T T ST HTEAT

(B) TeAT 7 Tataw &A=
(C) ity 7l waTE

(D) o = 7= faw
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19.

20.

21.

22,

GPS aided GEO navigational system for
better management of airlines has been
developed by ISRO and AAI. It goes by the
Acronym :

(A) AKASH

(B) GAGAN

(C)SKYPE

(D)HAWA

The 'Write India' Campaign, with which
many famous Indian authors, like Preeti
Shenoy and Amish are associated, is an
initiative by

(A) The Times of India

(B) The Indian Express

(C) The Economic Times

(D) The Hindu

A famous actor who played Spock in the
franchise Star Trek, passed away on
FEB 27, 2015. What is his name?

(A) William Shatner

(B) Leonard Nimoy

(C)DeForest Kelley

(D)James Doohan

What is the time period of Twelfth Five Year

Plan?

(A)2010-2015
(B)2012-2017
(C)2014-2019
(D)2007-2012

. TEU (ISRO) 7 T.U.3E (AAI) FTXT TITATEH &

g wae g .t v" FgrEass (GEO)
afarterer (57 swawTae) Sorrett R € T )
=8 T afaff oreg & ST STTAT 22

(A) AKASH

(B) GAGAN

(C)SKYPE

(D)HAWA

. 'Tre e afimm, e g fify et s

Fefter S gd & WG EE (R g, TE A
et uger 27

(A) T Zrwe i ST
(G ERERERE:r
(C)T THIAIT ZrzF
(D) = &g

oqte 1 g arar & oft, et FEB 27,
2015 F e 21 AT IAHT 79 F4T 32

(A) faferam ereme

(B) forie Rt

(C)fewreee =ly

(D)v+ <Tee

Tt eE T AT T THT-F T AT 22

(A) 2010-2015
(B) 2012-2017
(C) 2014-2019
(D) 2007-2012
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23.

24.

25.

26.

Which language of Maharashtra is critically
close to extinction?

(A) Mehali

(B) Sidi

(C)Maijhi

(D)Dimasa

Yakshagana is a folk theatre form of which
of the following states?

(A)Karnataka a

(B) Kerala

(C)Tamil Nadu

(D)Andhra Pradesh

Who among the following was the first to
adapt western-style clothing when it came
into India in the nineteenth century?

(A) Muslims

(B)Bangali

(C)Parsis

(D) Dalits

The All-India Khilafat committee was
founded by

(A)Maulana Mohammad Ali

(B) P. Kalifulla

(C)Badruddin Tayabji

(D)Abul Kalam

23.

24.

25,

26.

Wﬁﬁ?ﬁwﬁﬁ?w%@@%%
AR I 72

(A) Tt

(B) &t

(C) wr=tt

(D) femmET

e R TS T W1 TUEY AT 87

(A) FTeF

(B) *T=r

(C) arfareraTg

(D) ser w=er

Fefrerdt ot & @ A & qreAre o< F
TRET AT AT A TR Teg SR FLA AT
ST e AP

(A) i

(G ERIEL

(C) wret

(D) =t

stfrer STCT FaeTRa FHE % TEATTF FIT A?

(A) HIETHT HIgFAE AT
(B) . Hfergeett

(C) FEEET qZAEST
(D) A HATH
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28.

29.

Viticulture is

(A) Growing vegetables, flowers and fruits
for commercial use

(B) The science and art of cultivation of the
soil, raising crops and rearing livestock

(C)Breeding fish in specially constructed
tanks and ponds

(D) Cultivation of grapes

Name the field in which M.R. Poovamma

has won an award in 2015?

(A) Carnatic Music

(B) Tamil Literature

(C)Athletics

(D)Wrestling

A coalition government is

(A) A temporary alliance for combined
action, especially of political parties
forming a government

(B) Division of power between a strong
national government and smaller local
governments

(C)A social group of any size whose
members reside in a specific locality,
share government

(D) Power shared among different organs of
government

27. fafeseae (zrem F1) & oo v ST §2

(A) aTforfyes 3w 3 forg wfserat, & s &
AT

(B) ot 7 e F e  fase 7 e, wEe
AT ST TL- T

(c)fadre == & ffifa &t 7 qrerat § w=et
FEEC]

(D) SRIT T TfT AT

28. U, qATAT ¥ 2015 ¥ FF &= § [T

Al fpa 27
(A) FeTehT TR
(B) afirer arfRer
(C)a=E=

(D) Tt

29. THEET TTHTT H AT FAT THHAT 87

(A)%mrmﬁ@maﬁrmaﬁrm@r
TS et T HEE FTHATE F [0 T
IEATS Y

(B)@WU@WWW%W
FEHT o AT T A

(C)%ﬁwwwmmﬁiﬁ
Taer v fafdrg o § 5 €, /9w
AT FLA &

(Dyaw % Taflrer st ¥ = |veft fit 1€ 7=
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30. Recently, what rare celestial events did the
telescopes of NASA capture through Solar

Dynamics Observatory?

(A) A Double Eclipse

(B) A Nuclear Eclipse

(C)A record breaking Solar Flare
(D)A Super moon Eclipse

31. Which of the following organs DOES NOT

belong to human female reproductive
system?

(A) Placenta

(B) Uterus

(C)Ovary

(D)Vas deferens

32. Rancidity can be defined as oxidation of fats

and oils that changes

(A) Only the taste of food

(B) Only the smell of food
(C)Both taste and smell of food
(D)Only the color of food

33. Ammeter is a device that measures

(A) electric potential difference between two

points in an electric circuit

(B) electric current in a circuit only

(C) the strength and direction of a magnetic

field only
(D)both electric current in a circuit and

strength of a magnetic field

30. FTer & H, AT EerERIo 7 HIT AT ALATAT

3.

32.

33.

(Frer STt staaed ) 3 wTeAw F F AT
T AT AT F FoE T aT?

(A) =a TR

(B) =t e

(C) T FrrtE ree o HeT w7

(D) T FAR A FFTH

Craferfarg § & F19 A7 661 G ATRAT TS
ST & Faferd AE 22

(A) AT

(B) wreIterT

(C) srv=Ter

(D) gFATIRFT

AT AT AT A AT ARE 5w H
afvenrfir B s At 7, e

(A) ST T Faet T7% q2A4qT &

(B) st Y et It AZAAT &

(C) SIS 7 #ATE 7 el TAT A2 €

(D) SIS T et T AEAAT €

qnﬁzra’gm%,sﬁ__sﬁmwg
(A)wsﬁ%aﬁz%%ﬁgsﬁ%aﬁ?ﬁqa
IEEEIIES

(B) et U AiHE | geATHeE FE
(C)Fae T & 1 exwar 7 fem

(mt’ﬁﬁﬁ%ﬁ?ﬁﬁ%ﬁﬁ?ﬁm@?m
&1 T &HaT
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34.

35.

36.

37.

Which of the following is TRUE about
Pancreas?

(A)Pancreas is a part of only the endocrine
system

(B) Pancreas secretes only insulin hormone

(C)Pancreas is a part of both digestive and
endocrine system

(D)Pancreas secretes reproductive
hormones

Which of the following reproduces through

budding?

(A) Plasmodium

(B) Amoeba

(C)Yeast

(D)Paramecium

Which of the following organelle hosts the

breakdown of pyruvate into CO2, H20 and

energy, in plants?

(A) Nucleus

(B) Cytoplasm

(C)Mitochondria

(D) Chloroplast

X is a yellow powder and has pungent odour

if left open in air. It disinfects drinking water.

It is prepared by reacting slaked lime with

chlorine gas. Identify X.

(A)CaCOs

(B)CaClz

(C)Ca(OH),

(D)CaOCl;

34.

35.

36.

37.

5 & & 1 a7 v oA ¥ A & ad 27

(A) Fa SIT:ETET TOTTEAt 7 T AT 2
(B) Faer o grata &1 &rfad Fadt
(C)9T= ST Siq: =TT ST T U 9T 8
(D) ST gToie &1 Jfae Fedl &

e & & G afSr (o) & Aremw & &9
T STaT 87

(A) =ATSHIRTH

(B) sr+fraT

() =

(D) Torfafeem

Freferfea & & #r9 |7 sitifae drdi & CO,,
H20 i S5t # qTe%ae F =797 & 7
FLATE?

(A) T ()

(B) FfArFTs=T (ATZEeAToH)

(C)FHTorHT (ATEErHifEam)

(D) e (Ffdreerez)

X e 47 %7 U Uree g e AR g d gar &
e g fam S & |1 zad & fyeor gur s
B TE TR F Tt Y e w7 81 78
FTiREH T ¥ FO T & wfafET w1 da
T straT @1 X i a7

(A)CaCOs;

(B)CaCl,

(C)Ca(OH)2

(D)CaOCl,
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38. When some electrons are added to an
uncharged object, the object
(A) becomes positively charged
(B)becomes negatively charged
(C)remains uncharged

(D)gets damaged

39. Which of the following enzymes takes part in

protein digestion inside the stomach?
(A) Lipase
(B) Cellulase
(C)Lysozyme
(D)Pepsin
40. What would be the amount of electric
charge flow across a circuit, when 0.75 A
current is drawn by filament of an electric
pulb for 5 minutes?
(A)220C
(B)300C
(C)225C
(D)210C

41. Which of the following traits is NOT a part of

Mendel's seven contrasting traits in Green
pea?

(A) Yellow and green colour of seed

(B) Tall and dwarf height of the Pea plant
(C)Smooth and rough stem

(D) Terminal and axial flower

38.

i reft srTAor e & T S S
g g
(A)wmwﬁwﬁfs‘ﬁr'@m’cﬁ%
(B)Wmﬁaﬁfﬂﬁ@aﬁﬁ%
(C)srafxafia e &

(D)erfarared &1 ST &

39. ﬁaﬁﬁﬁ-—rmmﬁz%wm%

40.

41.

vt i e 21T 82

(A)TTEIH

(B)FeTH

(C)ATZHATEA

(D)afea
mwgaﬁ;mm%%mﬁ?msﬁaz
wo.75AwW%mmg,a@qﬁzﬁ
wﬁaﬁzgﬁmﬁwﬁmﬁ@?ﬁ?

(A)220 C

(B)300 C

(C)225C

(D)210C
Wﬁﬁﬁﬁﬂm@aﬂ@mﬁﬁ%ﬂ
¥ T T A F AW G 7

(A) et o e & g1 T
(B)w%ﬁﬁﬁaﬁ%ﬁ’taﬁ“ﬁr&

(C) TR i gLawr aar

(D) et (zfifen) i swefir (TRTT) F
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42.

43.

44.

Which of the following is TRUE about

diaphragm?

(A) The diaphragm is arched in normal
expiration

(B) The diaphragm is perforated in normal
expiration

(C) The diaphragm is flattened in normal
expiration

(D) The diaphragm doesn’t change in normal
expiration

Bio gas is also known as

(A)Helium gas

(B) Carbon gas

(C)Gobar gas

(D)Ethane gas

Which of the following is true about bisexual

flowers?

(A) They contain carpels only

(B) They contain both stamens and carpels

(C)They contain stamens only

(D) They contain either stamens or carpels

42.

43.

44.

ot & 3 919 97 v eark F e o
a2

(A) ST=ATHA TTHTT THTIT § G &
(B) =T=amihy ATaTT TuTaq # ffaa g
(C)ST=ATHH ATHTT THTIA H F9eT §

(D) STEATHA TTHTT THTIT § S&dT 751 &

T i 7 R st A & of Y ST S 82
(A) Eifer=w

(B)Te i

(C)TaT iy

(D) =37 i

B & & # |7 v gwafenft gt F ar § a8
Y4

(A) STH Faet =T g 7

(B) SH THH¥ ST o= AT B §

(C) STH Feaet THer< g1 &

(D)3TH AT T YHET AT ST BIAT &
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45.

46.

47.

What is latent-heat of vaporization?

(A) Heat energy required to convert ice into
water complétely without changing the
temperature '

(B) Heat absorbed when a substance
changes phase from gas to liquid

(C)Heat energy required to convert water
into steam completely without changing
the temperature

(D)Heat released when a substance
changes phase from solid to liquid

The electron affinity while moving from left

to right in period

(A)decreases

(B)increases

(C)remains same

(D)approaches zero

Balance the following equation to find out

the value of P, Q, X, Y and Z.

P CO; + Q H20— X CgH1206 + Y O2 + Z H20

(reaction occurs in the presence of sunlight

and Chlorophyll)

(A)P=12; Q=12 ; X=6; Y=6 ; Z=6

(B)P=6; Q=12 ; X=1; Y=6 ; Z=1

(C)P=6; Q=12 ; X=1; Y=6 ; Z=6

(D)P=12; Q=6 : X=1; Y=6 ; Z=6

45.

46.

47.

FredsRTor it T ST 7T F?

(A)Waﬁﬁmaﬁiﬁiﬁmﬁmﬁﬁ
qRafaa Fe 2 ATLAF FSAT Fo1t

(B)@deﬁﬂﬁmﬁmﬁﬁmﬁ
FFAMTO T

(C)Wmmﬁﬁ{ﬁmﬁmﬁ
qfrafifa 0T B AFeF FEAT IS
e ST

Frfore & a & 27T S A A TR
aear (TR

(A) 7 BT ST E

(B) @7 STHT &

(C) wuT e §

(D) 7% 7T 3 9T 7

P, Q, X,Y 3T Z FT | G FLA & (A0
Frerferfer T 1 aqfod e |

P CO5 + Q H0— X CeH1206 + Y O2 + Z H20

(Q‘W@%Wﬂaﬂ?’ﬁﬁﬁﬂﬁmﬁ
ET 8)

(A)P=12; Q=12 ; X=6; Y=6 ; Z=6
(B)P=6 ; Q=12 ; X=1; Y=6 ; Z=1
(C)P=6 ; Q=12 ; X=1; Y=6 ; Z=6
(D)P=12; Q=6 : X=1; Y=6 ; Z=6
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48.

49.

50.

51

In the periodic tabie, the element that has

the highest electron affinity is

(A) Copper

(B) Chlorine

(C)lron

(D) Mercury

Presbyopia is a refractive defect of visions

which arises due to

(A) gradual weakening of ciliary muscles
only

(B) diminishing flexibility of the eye lens only

(C)both gradual weakening of ciliary
muscles and diminishing flexibility of the
eye lens

(D)sudden dysfunction of ciliary muscles
and eye lens

In order to have a virtual image in a concave

mirror, the object should be placed

(A) between the focal point and behind the
mirror

(B) behind the focal point

(C)beyond the distance of the focal point

(D) between the focal point and mirror

Electric resistance is measured by a/an

(A) Ammeter

(B) Potentiometer

(C)Voltameter

(D)Ohmmeter

48.

49.

50.

51.

Frerd IRl &, F19 § ae7 7 Igaw s
AT (TR BT 22

(A) FTTT

(B) Frie

(C) smaTs

(D)7t

AT g T U e A S T

e 10T § 2T 872

(A F=t Fferrdy wiea et F -y Fusie
q

(B) et TS ¥ % BId T AT F F10
(C)3rt, farforadt wimufordt % fiv-offt Fasie

B T g FF F FH 19 g AT
FTTT

(D) F&ferardy wiedfart s ams o it s

Q

Feae 240 § v wefram sy o % o Ty
T FE TET AT AT(RT?

(A) ¥z &g F e oliiT adur & G

(B) ¥z fig ¥ iy

C)yFFFgfichFar

(D) 3z foig s oy & =

THH | AT A7 I9Fr e wiadre wrar £2
(A) wHtET

(B) T A HeT

(C) AeerHiex

(D) srfrex
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52.

53.

54.

55.

When a more reactive element replaces a

less reactive element from a compound, it is
(A)a double displacement reaction
(B)a displacement reaction
(C)both A& B
(D)neither A nor B
Why is Magnesium ribbon cleaned before
burning in air?
(A) to remove the layer of magnesium oxide
(B) because magnesium is not a reactive
metal
(C)to remove the layer of magnesium
dioxide
(D)because the layer of magnesium oxide is
unstable
What is the phenomenon behind the image
that you see in your bathroom mirror?
(A) Specular refraction
(B) Diffuse refraction
(C)Specular reflection
(D) Diffuse reflection
A blue coloured copper sulphate solution
turns green when an iron object is dipped
into it because of
(A) Release of oxygen molecules
(B) Formation of iron sulphate
(C)Release of sulphur molecules
(D)Change in pH

50, S P 2 & e e sfafeede o=

53.

54.

55.

a7 sfafraTefier qe 7 €T AT 8, 1 A8
(A)aﬁg‘ﬁﬁWTWqﬁﬁﬂT%

(B) R st &

(C) A@ B &l

(D) TAAATTEB
mﬁmmﬁﬁ@ﬁ‘?ﬁfwwﬁm
it fparT ST 87
(A)ﬁvﬁf@mamnﬁﬁﬁgaﬁa:m
(B)Wﬂﬁﬁﬁfm@srﬁﬁ?mﬁﬂm?@%
(C)Wﬂﬂﬁmﬁmﬁ?ﬁﬁ?ﬁaﬁm
(D)ﬁﬁwmﬁﬁm@ﬁ

waﬁ%tﬁ%ﬁwﬁaﬂm%ﬁfﬁmmﬁ
STy & T § F@d 87

(A) TRTHEF AT

(B)ama‘cﬁm

(C) T TTEAT

(D) T TETC

S 47 ¥ FioT FeE ¥ T A o A A A

@%W%ﬁmﬁ@ﬁmwglm
T T HE?

(A) Siterefier & Srogett 1 feher

(B) I FohE FT TAAT

(C) Fe ¥ SAupEA 1w

(D) pH # F=@T™
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56. Which of the following organ functions are

correctly matched?

(A) Gall bladder - Transports bile;
Liver- Releases insulin;
Pancreas- Stores bile;

Bile duct- Produces bile

(B) Gall bladder — Stores bile;
Liver — Produces bile;
Pancreas - Releases insulin;
Bile duct — Transports bile

(C)Gall bladder - Produces bile;
Liver — Stores bile;

Pancreas — Transports bile;
Bile duct — Releases insulin

(D)Gall bladder — Releases insulin;
Liver — Transports bile;
Pancreas — Produces bile;

Bile duct — Stores bile

57. |f green coloured ferrous sulphate crystals
(FeSOs, 7H20) are heated over a Bunsen

burner, the colour of the compound changes

with a characteristic smell. Identify the
products.

(A) Fe304(s), SO2(g) & SOs(g)

(B) Fe204(s), SO2(g) & SO3(g)
(C)Fe20s(s) & SO2(g)

(D)Fe304(s) & SO3(g)

. STt fr e Y BT o w & e @t § 87

(A) fosmerT — for afiae,
e — o s,
qreres T - fo=y s,
iy iR — foy seufRr

(B) fa=mer — oy g,

e — iy s,
T HF - Egfer Se;
forer anfeT - o oftmew

(C) farsrerT — firer 3cafr,;

e - foe s,
e Uty - o g,
frr arfeshr - dgfem e

(D) frrmerT — o e,
e - fiey afae;

T 3 — fOsr e,
oy e - fis "

. ST ¥ 1 % e qethe & e (FeSO0s,

7H20) TF &&= a4 9 7 fF T, o7 AR
T 1 U fAfOre e 3 |rer gEe W7 FAT AT
Ieqral Y T F qFS 27

(A)Fe304(s), SO2(g) & SOs(g)
(B)Fe20s(s), SO2(g) & SOs(g)
(C)Fe20s(s) & SO2(g)
(D)Fe304(s) & SOs(g)
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58. A Magnetic field is produced inside our body ~ 58. ST ST FX ST HITAHT & AT F Tl &

when ion current travels along the nerve
cells. This magnetic field inside the body

forms the basis of obtaining the images of
different body parts and this technique is

called
(A)ECG
(BYNMR
(C)MRI
(D) X-ray
59. The sky is blue because of
(A) Reflection
(B) Scattering
(C)Refraction
(D) Dispersion
60. Vermiform appendix is a/an
(A) Homologous organ
(B) Vestigial organ
(C)Analogous organ
(D)Analytic organ
61. If the diameter of a circle is 7 cm, then
circumference of the circle is
(A)5.5cm
(B)11cm
(C)22 cm
(D)44 cm

AT gL 91T % 3aY qeahig &9 a7 ST 2|
SR ¥ T a8 ey o o7 F fafwe st
#T gt YTH FLA FT AT a9GT & A A

TR T FIT FgT ATAT 22

(A) AT
(B) TA.TH.AL
(C) TH.ATIME
(D) THEX

. arerrer e smTer & e g 82

(A) TTTEdA
(B) e
(QEEELE]
(D)ot

(A) | ST &
(BDEELEIENES
(C) HHET T 2

(DREERIERES

. R A g mam 7 AL Arem g A

afefer frast grfi?
(A)5.5 &1t
(B)11 & A
(C)22 & .
(D)44 & Ht.
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62.

63.

64.

65.

The population of a town is 176400. If it
increased at the rate of 5% per annum, what
was the population of the town 2 years ago?
(A) 160000

(B) 194481

(C)202100

(D)242354

A can finish a work in 18 daysand'B can do
the same work in half the time taken by A.
Then working together, what part of the
same work can they finish in a day?

(A)1/6

(B)1/9

(C)2/5

(D)2/7

The average of first 20 multiples of 7 is
(A)71.8

(B)72.6

(C)73.5

(D)73.9

The numerator of a fraction is half of the
denominator. If the numerator is increased
by 7 and denominator be diminished by 19,
the fraction equals 2. The fraction is
(A)7/14

(B)12/24

(C)15/30

(D)17/35

62.

63.

64.

65.

U e Y STAEEAT 176400 21 AfE TEAT ITE
7T 5% i a9 21, a7 2 99 Uger SeEedt fHadr
f1?

(A) 160000

(B) 194481

(C)202100

(D)242354

ATFFH T 18 RA A e B S FF FT A

FTeT o T wEe | e wHT § QR T Ahar
21 T TT AT FTH FLA g, F IHT F T

e T U R H O # w57
(A)1/6

(B)1/9

(C)2/5

(D)2/7

7 3 TIH 20 IO HT 4T §
(A)71.8

(B)72.6

(C)73.5

(D)73.9

e T T Sfer, BT AT ST g1 AT ster H 7 Ay
iy ¥ It & ST g & 19 1 F+fy I g,
TR 2 e T smar g1 ar =g

(A)7/14

(B)12/24
(C)15/30
(D)17/35
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66. The ratio of 44(3.5) : 25 = 66. 4/(3.5) : 275 T FUTT =
(A)2:1 (A)2:1
B)4:1 B)4:1
(C)7:5 (C)7:5
(D)7:10 (D)7:10

67. In a 3 litre solution of water and salt, the 67. T S TWE * 3 ofieT A F, THF 1 AqAqT
percentage of salt is 40%. If 1 litre of water 40% 1 afx & =t # 1 wfeT vt e s
is added to this solution then the percentage &, TSR R AT ST AT EI?
of salt will be
(A)33% (A)33%

(B) 30% (B)30%
(C)35% (C)35%
(D)25% (D)25%

68. After allowing a discount of 10% a seller 68. 10% Fe T UF fawar scara it faft 72 20%
wants to gain a profit of 20% by selling a T FETAT TR {1 O o F FIL I A
product. The percent by which the marked g 8RR RS Tl b4 4
price on the product should be raised above
the cost price is
(A)30% (A)30%

(B)33.33% (B)33.33%
(C)37.37% (C)37.37%
(D)40% (D)40%

69. The average of squares of first 20 69. TAH 20 FHHTTT TF HEATEA % A1 FT TR
consecutive even numbers is Fpererr g &2
(A)282 (A)282
(B)375 (B)375
(C)574 (C)574
(D)589 (D)589
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70. A can do 1/3rd of a work in 5 days and B
can do 2/5th of the work in 10 days. In how

many days both A and B can do the work,
working together?

(A)7 3/4 days
(B)9 3/8 days
(C)8 3/7 days
(D)10 days
71. If the area of a square field is 196 sg.cm,

what will be the length of the fence to bind
this field?

(A)28 cm
(B)36 cm
(C)56 cm
(D)196 cm

nAac

72. A man'’s age is three times that of his son.
12 years later the father's age will be double
the son’s age. The man’s present age is
(A)12 years
(B) 24 years
(C)36 years
(D)48 year

73. An aeroplane flies along the four sides of a
square at speeds of 200, 400, 600 and

800km/hr. The average speed of the plane
around the field is

(A)200 km/hr
(B) 256 km/hr
(C)384 km/hr
(D)500 km/hr

70.

T4

724

3

A TF & &7 1/3 AT 5 3 § ¥ gehar § s B
T T 2/5 9T 10 o & T Tehar 21 A T B
T e fraw o § sa i i #4r?

(A)7 3/4 fa=
(B)9 3/8 fa=
(C)8 3/7 fa=
(Dy10 f&=

T Tk FEITRTE HET T er=Thel 196 = 947 2
Y 28 T W AT N AT AT Y AT
&2

(A) 28 Tft
(B) 36 &+t
(C)56 &t
(D) 196 It

T AT AT S I T & A T 2112 T
12 fOqT 7 =g 9% T T g 7 (AT 27
STOAfT| =fp i AT g G 872
(A)12 7

(B)24 T

(C)36 7

(D)48 =

T arAT 200, 400, 600 e 800 3.1 /5.
it T & U =RTRTL T AR AT F AT
IS FXAT | AT o AT AT ATLITT T e
e et 872

(A)200 .t /=
(B)256 . #ft./=
(C)384 f&r 4t /e
(D)500 6.4t /=
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74.

o

76.

The diameters of the front wheel and rear
wheel of an engine are 70 cm and 168 cm
respectively. How many times the rear
wheel should fully rotate in order to cover
the distance which the front wheel covers by
rotating 600 times?

(A)125

(B)250

(C)500

(D)750

A cyclist covers a distance of 750 metres in
2 min 30 sec. What is the speed of the
cyclist in km/hr?

(A)12

(B)16

(C)18

(D)22

If the area of an equilateral triangle may be
equal to that of a given square with a
diagonal of length 120 metres, then the
length of a side of the triangle is

(A)60v2 metres

(B) 84.85 metres

(C)120+3 metres

(D) 128.95 metres

74, TF T % el 9w 7@t & s wmen

70 &Y. siw 168 F.41. ¥ Mww aRu srsw

T HT IR FA § T g et a1 gaen
TRT ST ST IRAT 600 ST H FE IIT Fam

8?7

(A)125
(B)250
(C)500
(D) 750

. ATEiRe 7o arer fRE 750 e fi g 2

e 30 &pvgw & Tt 2 81 At =
Frer =fen Y i frdv /= & Rt 22
(A)12

(B)16

(C)18

(D)22

. % F TSt BT v S 5 R ot

¥ THGET 21 aar g S Bt £ awars
120 ez &, a7 Brqer it v o Y et
Frasr 872

(A)60v2 ez
(B)84.85 1fiax
(C)120v3 Hiex
(D)128.95 Hex
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78.

79.

80.

Which number will complete the series if
filled in the blank space?
22528k

(A)93

(B)95

(C)96

(D)99

The ages of A, B and Care 8jears

10 months, 15 years 6 months, 12 years

5 months respectively. Their average age is
(A) 10 years 2 months

(B) 12 years 3 months

(C)13 years 6 months

(D) 13 years 9 months iy

A rectangle of length 40 metres is bisected

by the diagonal of length 50 metres. The
area of each part is

(A) 150 sq.metres

(B)400 sq.metres

(C)600 sq.metres

(D)1200 sg.metres

The area of a circular field is 38.5 sq.metres.
The cost per metre of a rope is Rs. 5. What
is the total cost of rope to fence its
boundary?

(A)Rs.96.25

(B)Rs.192.50

(C)Rs.55

(D)Rs.110

77,

78.

79,

80.

RFeaT 9 ST 9% i &t & gaar
() =7 =T FEA?

2.5 11,23, 47, o

(A)93

(B)95

(C)96

(D)99

A, B i C #it s #wer: 8 9 10 ATg, 15 9
6 WTg, 12 a9 5 #Tg 1 3T sfraa oy ot
2?

(A)10 7 2 718

(B)12 a9 3 7rg

(C)13 = 6 #TE

(D)13 a9 9 wTE

40 T FAXTE AT T AT T 50 HeT T8

ot grar i fovam &) e s
FAFA g

(A) 150 =F e
(B)400 =t Hiex
(C)600 =T Hiex

(D)1200 =7 HieT

T TATHRTE FSTT AT &% 38.5 FTHIEL &)
s Tt Y wfe dew wnra 5 w9 g1 gt @i
I TS A § AT AT Srusi?

(A)96.25 %
(B)192.50 %
(C)55%
(D)110 %
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81.

82.

83.

84.

If a person incurs a loss of 25% by selling a
product at Rs. 150,the cost price of the
product is

(A)Rs. 125

(B)Rs. 175

(C)Rs. 200

(D)Rs. 225

If a retailer gained 16% profit by selling an
article at Rs. 40.60, then the cost price at
which he bought the article from the
wholesaler is

(A)Rs. 35

(B)Rs. 40

(C)Rs. 45

(D)Rs. 50

If an article is sold at the price which is 2/3
of a fixed price, there is a loss of 20%. What
is the percent gained, if it is sold at the fixed
price?

(A)20%

(B)25%

(C)30%

(D)35%

Which number will complete the series if
filled in the blank space?

Lo T R , 63, 127.

(A)30

(B) 31

(C)47

(D)52

81.

82.

83.

84.

7f% tF =fRF #1150 & § vF ST A7 F
25% T =TT G ©, T IATE FT ANTT T
FraeT o2

(A)125 =

(B)175 =

(C)200 =

(D)225 &

afX 7 BT T 40.60 & § UF a4

T 16% TTH FHAT 9T, T IH TG HT AT

T 47 § o o7 399 3 o =T & ghar
a7?

(A)35 &
(B)40 =
(C)45 =
(D)50 =

w&@ﬂmﬁaﬁm%zmww
=T STt 2, A7 20% =rer grar ) Aty =
il qea o a= s, &t G wfer ams
grm?

(A)20%

(B)25%

(C)30%

(D)35%

e st S o A off e s
(HT) 7 o e

3 T8 ... 169427,

(A)30

(B) 31

(C)47

(D)52
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85.

86.

87.

88.

Which number will complete the series if
filled in the blank space?

81828487, ...

(A)88

(B)89

(C)90

(D)91

If 30% of A = 0.25 of B = 1/5th part'of C,
thenA:B:C=

(A)10:12:15

(B)10: 13017

(€)10: 12:13

(D)10.:12: 17

A train 220 metres long takes 20 seconds to
cross a platform 280 metres long. What is
the speed of the train?

(A)90 km/hr

(B)50.4 km/hr

(C)48 km/hr

(D)39.6 km/hr

If Rs. 672 is divided in the ratio 5 : 3, then
the greater part will be

(A)Rs. 252

(B)Rs. 420

(C)Rs. 572

(D)Rs. 602

85. TRheerT WX ST+ v i & " gaer

(&) F1 T FEA?
81,82, 84,87, .......
(A) 88
(B)89
(C)90
(D)91

. IfX A®T30%=B #T0.25 = C FT 1/5 AT &,

qA:B:C=

(A)10:12:15
(B)10:13:17
(C)10:12:13
(D)10:12:17

. 220 HieT o=t U 2 280 HST oF e

T I FTA § 20 FFUSH FT HET AT Z1 5T A
wrfy foaeft 82

(A)90 f.H1./5
(B)50.4 f=. 4./
(C)48 fr.Ht. /e
(D)39.6 fF. Y./

. AfX 672 F F75: 3 F srqura # fararfora frar

SITAT &, A7 T=T AT =T gem?
(A)252 &
(B)420 &
(C)572 %
(D)602 =
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21 =feF TF F F 200 T F FIA FT ITCRIAA
S5 31 e T ST 5 6 Tt H A T L,
wsﬁaﬁmm%nwaﬁﬁm
F, % 7 3 R QT A A §) ASH HAW

09, 1 WU o undertake to do a piacs nf work 89.
for Rs. 200. One alone can do it in 6 days,
other in 8 days. With the help of a boy they
finish it in 3 days. How much is the share of

framT 82
the boy?
(A)20 =
(A)Rs. 20
B)2
(B)Rs. 25 ®2F
(C)Rs. 0 R
(D)Rs. 40 (D)MOQT.. -

90. While distributing a sum of money amonga  90. = ¥ wE § g ey v Frare f e
number of boys, a man finds that Rs.2 is left R, e = T § i Aty s A 48 T
if each one of them is given 48 paise, ST & AT 2 AT T €, g af g e il

oy : 61 T 37 & 97 60 T #¥ 3T sTALTFAT FRA
whereas 60 paise is needed if he pays 61 : : :
: G e FEHI AT HEAT 7 HL
paise to each one of them. Find the number
(A)10
of boys. IS 298]
(B)20
(A)10
(C)30
(B)20
(D)40
(C)30
(D)40
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91, "HIHAT" g FAT ¥ 3 T F oy IaTEew 87
(A) =fRFaT=F |
(B) Srferam=ra €=
(C) wgaT= H
(D) Z=FaT=E T

92, TEFT, HIA, FolE, [T A wrered # forr
e T F B 87
(A) TF
(B) =
(C) &=
(D) =X

L 105 ¥ TETE

93. aT=T ¥ fhaq wFR &2
(A=

(B) d1=

(C) =T

(D) ==

94, ' T FT FW BT ' T ETaL FT AT 7 FIT 272
(A) sICET ETT

(B) ETE AT

(C) Tga =TT &A1

D EEEEE

95, 'FHT FHAT TH YaTa¥ FT 7 FAT 2?2
(A) w8 & 7€ grAT

(B) ATT &I

(C) Tt ey o FAT

(D) T HTTAT

96, THH ¥ AT 5% FT ITE FIAT 87
(A) T

®F

(C) st

(D) ®T

97. T ¥ T @rE ' 7w ATy 1 T A 82
(A) T

(B) =

(C)

(D) =g

98. ‘I 95T T TATTATHT 9153 FAT &2
(A) T

(B) art=a

(C) g

(D) T+t

99. ‘HTeT 9158 FT Tga=T &I FT 2?2
(A) =TS
(B) =TsT
(C) ==
(D) =T=T

100. ‘FhTT 157 FT ATFea o QT |
(A) ST T

(B) Hted

(C) rsgoror AT AT

(D) &
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101. AT 6T G FT FIFET AR g Thal 82
(A) FTITH SAHTT

(B) AT ASHTL

(C) TwF T

(D) g sreih1T

102. FHTE FT 93 Y a1AT |

(A) ToTe T & e 2

(B) THTH H FH-T-HH T T HT A 2raT gl
(C) wHTE |iver FT AT &7 g

(D) FHTH T AT A1 TF AT 2

103. "SI erss 7 o e
(A) s

(B) STt

(C) STt

(D) STt

104. TATIEATHT ST53 AT AL ATH F4T 872
(A) st sz

(B) wfa arsx

(C) wHeTHF 55

(D) &%= 1=

105. "T[UrETSF" FEATH F IITELVT TAH T HIwAT 272

(A) T
(B) F=
(C) 7=
(D) fi=

Direction for questions 106-120:

T[S ATHT T 37 T A7 T Y q197 |1 T8 9w
e AITee AT OTH FT FTH AT g1 TP AT 98 2
ST e Ty ¥ AT S FA 1 TISTAT
& T SraT {1 Tg AT A 9 AT HUE ST
T ATIT F I AT HT FTETHE O @Al gl
% SEH T AT T qTEhiae TErd SET
RER AR e T e e B L E
& ot w2t of & wear &, 70t ag e Jor i off
B Tt 2150 % Zor & smw erreres v oft 21 wdAT
IR et § oot R TrorATT F w9 §
& ot &1 oy e k¥ € &1 9T &
dfaeam & e 1 Areaar wa €7 e g1 " i
gTT ¢ R0 F AT O FT 14 foeal & 77 36eft &
T STaT 81 9T R 0 et oAt F et
FT FE AIA-T ST T TrorATeT A7 By F 4w
ST § FT ST |eRaT R16TT 3%3 F e g9 Y
TrerATaT fRedt e forf FaAmry 2nft | = s
THTL TIT =TT H1T ATHT et HT THTa =T 21
T 3% § gy it e w1 § RBedr swrar
ST SATere F F for Figr 4 /)

106. TFATIT & YHE T T F 38 F I 47
AT e 872

(A) &= =ifog gran 2

(B) |THTT ST HTOT &

(C) |T¥ et it T AT ¥

(D) STaT ¥ ATATATCHS TAT qiehiah AT 2

107. &Y sroT Y ATt wfeem & f arer
HIIdT 9TH 83 872

(A) 1947

(B) 1948

(C) 1949

(D) 1950
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108. =8 sg=aE 1 A § & 3fa g g
(A) TISITHTHT S TYATIT

(B) ATEATH HTHT

(C) ST

(D) rer=rer i sreT

109. T8 AT=F A1 H e A9 T AT A
==Y it a1 Far T 82

(A) Tl &<t sraTst v

(B) f&==T stro =it

(C) afaerfa= wrur #:r

(D) =feror & syram =

110. sredter By st 7 e s = i samar
HATIAT B2

(A) F==

(B) =TSt

(C) Tsrert

(D) &=t

111, g 3% B Rt sarom &1 T saren
g F F e e Y AT w1 S 82
(A) e

(B) srermer ==t

(C) Trgfy

(D) 9T ToT

112, STSTEY ¥ FT2 Zor F TSSO 6 &7 F A1
A fRora 872

(A) F=rE

(GIREIED

(C) &=

(D) Firsf

113, A a9 & Ry R Far w7 872
(A) R epaT

(GREE R

(C) =& SHaH

(D) 2% frea

114. TR w71 % y= ud v\ # G anEe
w1?

(A) wETeAT T

(B) SATEXET HEE

(C) e =% |

(D) ST STRTST AT

115, &9 Y TrereTeT fReat aur iy Feamrt &
I o g2

(A) 9Tea |

(B) ®faem= &

(C) wfaem & 33 amar &

(D) &sft &=y % AT

116. TISTATIT T 7 F47 32
(A) Zor ¥ AToT

(B) 7T it STt

(C) TrSIT AT Tr= A AT
(D) faEfor =t s
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117. &fFema % 3 4T ¥ stata @w #r w18
FeATd TRl AT St & 2 7 S §7

(A) gTET R Q0

(B) & 20

(C) amaT 3%¥3

(D) gmer 3%%

118. fawat s it forfar #am 22
(A) wfa=

(B) F@ATHEY

(C) =mefr

(D) @St

119. =7H & Fret amer et wrr & o wftag
T2

(A) 8T go0

(B) &1 R0

(C) s 2 %0

(D) &mT 3%3

120. 757 fareTHee % FTF FATT e w7 FT
e wfre 7 e g et 32

(A) gTTT R %0

(B) a1 3%3

(C) amar 3%%

(D) &7 3%y
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Space for Rough Work:
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Instructions / fAger

Please read the following instructions carefully:

1. Write your Roll Number, Question Booklet Number and
Question Booklet Series on the OMR Answer Sheet
carefully and sign at the appropriate place. Please note
that in absence of the correct Roll number, Question
Booklet Number and Question Booklet Series and

Signature on the OMR Answer Sheet, your OMR Answer
Sheet will be treated as invalid and will not be evaluated.

2. Strictly follow the instructions given by the Centre
Superintendent / Centre Observer/ Room Invigilator and
instructions given on the Question Booklet.

3. Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, scanning devices,
pagers etc. to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material or
involved in copying or impersonation or adopting unfair
means or behaviors will be disqualified and may be
subjected to penal action.

4. This examination is of objective type. The question
Booklet contains a total of 120 questions and the total
time allotted is 120 minutes. All questions are compulsory
and carry 3 marks each. Every correct answer will get 3
marks and 1 mark will be deducted for each wrong
answer.

5. The candidates must check that the Question Booklet
has 120 questions with multiple choice answers. If any
discrepancy is found, immediately report to the Invigilator,
so that Question Booklet may be replaced.

6. Each objective question is followed by four answers
among which one is correct. Your task is to choose the
correct answer and mark your answer on the OMR
Answer Sheet, NOT on Question Booklet.

7. Completely darken the CIRCLE so that the alphabet
inside the CIRCLE is not visible. Darken only one circle for

each answer. The CORRECT and the WRONG method of
darkening the CIRCLE on the OMR answer sheet are
given in the example below:

Correct Method

Ce00

Wrong Method

ceoe

000
0®00
00®@O

8. Use black ink ball point pen for filling the boxes and
darkening the circle on OMR Answer Sheet. Do not use
pencil.

9. In view of the limited times span, do not waste your
time on a question which you find to be difficult. Go on
solving questions one by one and come back to difficult
questions at the end. It is only an advice.

10. Folding/ wrinkling or putting any unwanted mark or
damaging the OMR Answer sheet is prohibited. The
candidate will be responsible for invalidation of the OMR
Answer sheet for doing such deeds.

11. Space has been provided at the end of the Question
Booklet for rough work.

12. The OMR answer sheet will have to be submitted to
the invigilator after the examination. Candidates are
allowed to carry their Question Booklet from the
examination hall after the examination.

13. Questions are in Hindi and English. If any discrepancy
in either of the versions of question is present then that
question will be cancelled.
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